NTHERADER(BFRREFH
3F—-6A—4E—-FAiE A =]
K4
1) ROXZRHSRLES, (2R X 10%8)

1 y'—4y—45 2) a’+0. 08ab+0. 16b’
2 2
2) a +13a+40 4) x —0.04
5) x2y+xy2 6) x2—15xy+56y2
2 2
7) 0.25x —2x+4 8 ¢ —c—12
9) —b5abc—10abd+20abe 10) x2—§x+i



NTHERADER(BFRREIFH
3F—6A—4:8—KIg A =]
K4
2) ROXZEHSMLESL, (2R X108

1) x2+7xy—18y2 2) a’+11a+30
2) a —49b 4)  4x°—4x+1
5) a +18a+81 6) 8ab—4(6ac—8ad)
7) p2—16pq+39q2 8) —3x°+3x

9) a +16a+55 10) a°—10ab+24b°



NTHERADER(BFRREIFH
3% —6A—4:8—Kig A =]
K4
3) ROAZABARLESL, (2R X108

1 4x’—1 2) a°—3a—40
2 2 2
3) x +1.2x+0.35 4) 100p —20pqg+q
2 2
5) x —12xy+32y 6) S5px—10py
7) b +16b+64 8) 68pa—51pb+17pc

9) 16x°—40xy+25y° 10)  x°+20xy+36y°



NTHERADER(BFRREIFH
3% —6A—4:E—KIg A =]
K4
4) ROXZEHGMLESL, (2R X 1088)

1 X +4x—12 2) X +x+0. 24
2 2 2
3) 36a°—0. 01b 4) 9’ +6x+1
5) —ab+2ac+6ad 6) 49y —28y+4
2 2
7) p'—18p+72 8) x°—10x—96

9) 3x3y2+6x2y3 10) a2—5a—50



NTHERADER(BFRREIFH
3F—-6A—4E—-&IE A =]
K4
5) ROXZHEHSMLESL, (2R X 108)

1) x2—7xy—60y2 2) —25x2+16y2

3) —18x+x +81 4) —2x+2ax—8bx
5) x2—9xy+20y2 6) a’+14ab+48b°
7) —4abx+8acx 8) 64y2+48y+9

9)  x'4+6x—27 10) p +12pq+35q°



NTHERADER(BFRREFH
3F—-6A—48
1) RAlE—ME 2R x108) A B

1) (y=9)(y+5) 2) (a+0.4b)° 3) (a+5)(a+8)
4) (x+0.2)(x—0.2) 5) xy(x+y) 6) (x—7y)(x—8y)

7) (0.5x—2)° 8) (c—4)(c+3) 9) —5ab(c+2d—4e)

2
10) (x—=3)

2) KE—RE (2R X108 A B
1) (x+9y)(x—2y) 2) (a+6)(a+5) 3) (a+7b)(a—7b)

4) 2x—1)° 5) (a+9)° 6) 8a(b—3c+4d)

7) (p—13a)(p—3aq) 8) —3x(x—1) 9) (a+11)(a+5)
10) (a—6b)(a—4b)

3) KE—RE (2R X108) A B
1) (2x+1)(2x—1) 2) (a—8)(a+5) 3) (x+0.7)(x+0.5)

4) (10p—a)° 5) (x—8y)(x—4y) 6) 5p(x—2y)

7) (b+8)° 8) 17p(4a—3b+c) 9) (4x—5y)’
10) (x+18y)(x+2y)



NTHERADER(BFRREIFH
3F—-6A—48

4) KE—RE (2Rx10%#) A =]
1) (x+6)(x—2) 2) (x+0.6)(x+0.4) 3) (6a+0. 1b)(6a—0. 1b)

4) 3x+1)° 5) —a(b—2c—6d) 6) (Ty—2)°

7) (0—6)(p—12) 8) (x+6)(x—16) 9) 3x vy (x+2y)
10) (a—10)(a+5)
5) &E—RE (25X 108) A =

1) (x—12y)(x+5y)  2) —(5x+4y)(Bx—4y) 3) (x—9)
4) 2x(a—4b—1) 5) (x=5y)(x—4y) 6) (a+6b)(a+8b)

7) —4ax(b—2c) 8) (8y+3)°  9) (x+9)(x—3)
10) (p+5a)(p+7q)



